“A Christmas Carol” by Charles Dickens

Rewrite the words in the right order to give a summary of the story.
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“A Christmas Carol” Solution:

A miserly old man named Ebenezer Scrooge sits in his counting-house on a cold Christmas Eve.

His clerk, Bob Cratchit, shivers because Scrooge refuses to spend money on heating.

Scrooge‘s nephew invites him to a Christmas party, and some other people ask him for money for a charity.

Scrooge just says "Bah! Humbug!"
That night Scrooge is visited by a series of ghosts, starting with his Jacob Marley, his old business partner.

Three others follow, the Ghost of Christmas Past, the Ghost of Christmas Present and the Ghost of Christmas Yet to Come.

They show Scrooge how his mean behaviour has affected those around him.

At the end of the story Scrooge is relieved to discover that there is still time for him to change, and we see him transformed into a generous and kind-hearted person. (OR a kind-hearted and generous person)
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